2.2 Warmup

Determine the following:
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Relationships Between the Graphs of y= f (x)and y = f'(x)

Graphing f'from f - How does the graph of the derivative compare with the graph of the original?
Or what does the original function tell you about its derivative?
y=f(x) y=1'(x)
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Graphing f from f’ - How does the graph of the function compare with the graph of the derivative?
Or what does the derivative tell you about the original function?

y=f'(x) y:f(}ij !
iz v /

oY |/

JAR /
1)

[
)s-

/
Jope of foa) <2 frece aremomy  fundions ok
Yhve @& S\.oPe_ é'}.,

Loz 2% + C
)) )
thece Gee mony possile

_ intev (oo
Sketch the graph of y = f (x) with f (—2)=3and with the graph of y = f'(x) shown below. Assume
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Graphing the derivative from data 5\‘03“'> Qd.l"%’

F@Iities of SharedRirthdays Estimates of Slopes of the Probability Curve
Probab Midpoint Slope

3
b -

4,2\

People ty of interval
0 0 25 0.0054
5 0.027 7.5 0.0180
10 0.117 12.5 0.0272.
15 0.253 17.5 0.0316
20 0.411 22.5 0.0316
25 0.569 27.5 0.0274
30 0.706 32.5 0.0216
35 0.814 37.5 0.0154
40 0.891 42.5 0.0100
45 0.941 47.5 0.0058
50 0.970 52.5 0.0032
55 0.986 57.5 0.0016
60 0.994 62.5 0.0008
65 0.998 67.5 0.0002
70 0.999
| gooooo oo
o" a
o o
o
o " a o
o _T.-. . Bn g,
® 0
fPlO\ = -0




